
SAP ABAP table ICL_LOCATION {Location}

ICL_LOCATION

CLIENT [CLNT (3)]

CCEVENT [CHAR (17)]

CHANGEDBY [CHAR (12)]

REGION [CHAR (3)]

COUNTRY [CHAR (3)]

ICLCCEVENT

CLIENT [CLNT (3)]

ACTIVE [CHAR (1)]

CCEVENT [CHAR (17)]

 ICL_LOCATION-CCEVENT = ICLCCEVENT-CCEVENT 
0..N

0..N

T000

MANDT [CLNT (3)] ICL_LOCATION-CLIENT = T000-MANDT 0..N

0..N
T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 ICL_LOCATION-COUNTRY = T005-LAND1 
0..N1

T005S

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

BLAND [CHAR (3)]

 ICL_LOCATION-REGION = T005S-BLAND 

0..N

{0,1}

USR02

MANDT [CLNT (3)]

BNAME [CHAR (12)]

 ICL_LOCATION-CHANGEDBY = USR02-BNAME 

0..N

0..N


